Total No. of Printed -Pagés—3
4 SEM TDC ASM MIL (A) 1

2015
( May )

ASSAMESE
( Modern Indian Lang‘uageA)
( Arts )
Course : 401 ‘ v

( =P fEer vrElE )

Full Marks : 80
Pass Marks : 32

Time : 3 hours ¢

The figures in the margin indicate full marks
for the questions

31 W‘sz . . | SXb=v
(F) R 7R e e, T 2420y

(¥) ‘@ IR @IW TR @R 4RI o0
MRS ? N

(o) *..X (O SR SR WA 5F 2RCT, 9T (2 AR
o1 1" &% 59l (ITCHI FROR w@sfe 2 3
(7) IR R @A R T-FRRN @AW B >
(8) MRS Bfb TR R A el A 2 S

p15—12*/440 { Turn Over)




(‘ 2»»)

g . - ,‘L\'
-

(b') mﬁﬁww%v N
(®) mﬂﬁwcmﬁaﬁrmﬁv S
) @.mmma%wﬁam@w@mm
Refemr . N
1 (F) mcmﬂaﬂ’lﬁb‘ﬂﬂ%%ﬁ ]I IRebR
@ @i | vHe=33

(%) “CoIReL U ST FREIBIS (ol W
e =Y 7 2 IR R coremets qmm ©
{ﬁm,wﬁl 8+b=33

X (?F)Whﬁﬁlmﬁgﬁ‘c'ﬂﬁw’wﬁmqﬁ
SIPT CTI TN TG P oo

HCEATEAl F4 | o=y
()T FYTS AP AR T S SR Ry
5 SCEATSA SRCGHT | - -
81 (¥) SER Ry ‘wwﬁmmﬁm%ﬁw RS
mc*nmmmﬁaswwfﬁawquﬁq
TN ot i e 4 V=33
L

() %’Fm’ﬁ TR WA MR gl
Hamw %"Wﬂ?’lﬁ@ﬁﬁmﬁmﬁaﬁ
e . 33

P15—12*/440 . {Continued )




(3)

¢! (SFR RIFTS {91 ‘=i’ SRE =opfidr’ R e
a1 R FIRAE! Fre] AR Bl FRTS eept com

T4 IS0 S 6 | +8=33
vl (F) Sifres R’ BempR Regsg soné aft vy
SEATSA SISRCGH | Y
SRR

(1) Sifbrss o Tempa ot wgrR wwEh
SoEATPITE SN SRI-TMRG-ATFS S A
FARIT (TIARR—F YRR SCABAT SIRCGHT |

a1 [0 T4 (R A P ERA) BrU=33

() FFA R-GRA aTen
e -1 fAwIe |
JL-H-TA R_E A&
STacal e R

(1) iR @i 39-Reg, S e |
wif} qreg-w1z
wf}-FE R % @ RRReR 4 ¢ wmr
Prifts Reafd, e |
(1) *“comI T AR THST F1-3TS AR (i
W FTON A T, (PN RS iR 17

* % %

P15—12*/440 4 SEM TDC ASM MIL (4) 1




"

e

(3) |

(d) T orpR R SpiR THEe (@30 S
Row IR 2

1
|
How many series of society is divided by }
Herbert Spencer in terms of evolution? /

6 o
Two
(i) TR
Three ‘ !
(i) IR '

Four 1

o) TS BTE T P I T I e ‘

RO (PRI R 2 5
Which one of the following solidarity was |
not mentioned by Emile Durkheim? a

1
@ e =S 1
Mechanical solidarity /

(i) CERT WS /!
Organic solidarity } _

(i) e wee
Changing solidarity

®
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Emile Durkheim divided suicide in how
- many divisions?

@)
Two

(i) T
Three

(iij)  IfBT

Four

(g) GT® QAT ASRCTRN TR STIF I C2”

Methodological construct as propounded
by Max Weber is

() e
ideal type

(i) R fFm
social action

(i) T oy

religious value
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Who first introduced about reference
group?
(i) <. 9%, YA
H. H. Hyman

T N— e -

(i) SR . ToA
R. K. Merton

(i) . 4. T
C. H. Cooley
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Write briefly on any four of the following
(within 150 words each) :

(q) IESG TR T IEPTR
Basic factors behind the birth of

Sociology

|
1
|
(b} R fEoret TEes |
Sociology as a science /

() T oo I A j
Herbert Spencer’s social organism .
(d) TIEE S0 : ;
Social facts s‘r
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(e) e = | '
Ideal type :

() TG PR oR uy
Meaning of middle range theory

3. oo fral R o oS R Tew B (s
50091 fooe) :
Answer any four of the following questions
(within SO0 words each) :

(@) TR F'B HRER TR @R 247 e
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Discuss about the progress of human
knowledge as propounded by Auguste

Comte. A
(b) T CFPRA TART Sge SRR e
RN ? Reme s911 4+10=14

What are the influences of Biology to

social thought of Herbert Spencer?
Analyze.

(c) T A e 2R R @emE
TN RS ? CONR TORTerd WA 391 |
6+8=14
How did Emile Durkheim explain about

: collective representation? Discuss with
your own opinion.
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